= o
A & 0l & A &2 F Al
TR0l LeE ARSI
2= X ot
ME dERAss
e SERED)
= _ — d =
HH - B (3H) - KA - BYS 0l &t o il Bl RE2
= Xl 1t 73,739,656 74,415,797 AB76,141
= 38,155,286
Xl 17,128,068
J| 780,000
< 17,676,302
JHE MEHE=EH 73,668,039 74,357,480 A 689,441
= 38,155,286
Xl 17,128,068
J| 780,000
< 17,604,685
AHISEXA 8,971,229 5,075,107 3,896, 122
= 6,313,273
< 2,657,956
MHIFIAE Y 46,990 370,500 A 323,510
= 31,327
< 15,663
308 XXl EHH SOl A 46,990 370,500 A 323,510
= 31,327
< 15,663
01 AXHHILEES 46,990 370,500 A 323,510
OouzlZgNexy 46,990
= 31,327
=) 15,663
ML SEt 381,091 260,650 120,441
= 254,061
< 127,030
308 AHAIEHHSOIA 381,091 260,650 120,441
= 254,061
< 127,030
01 HIXNHHNBNEES 381,091 260,650 120,441
OgLE &4Z3st 381,091
= 254,061
< 127,030
AASIHS KA 144,000 88,056 55,944
= 96,000
=) 48,000
403 MHXISHHE X201 E 144,000 88,056 55,944
= 96,000
=) 48,000
01 X S22 = 144,000 88,056 55,944
Oget= I & 144,000
= 96,000
< 48,000
tE RSIIEHAE 51,300 17,929 33,371
= 34,200
< 17,100




AN AHE =X
M AN MENIEH
Sl NYHEX CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
403 UHXSHHSA=0l& 51,300 17,929 33,371
= 34,200
< 17,100
01 X SHMA2E X 51,300 17,929 33,371
OYdts FRSIIEHXIA 51,300
= 34,200
< 17,100
LMSHEAZAIL 1,123,020 289,083 833,937
= 748,680
< 374,340
403 MtXISHHE X201 & 1,123,020 289,083 833,937
= 748,680
< 374,340
01 XM A=2EE 1,123,020 289,083 833,937
OZUESHEUAXZAE 1,123,020
= 748,680
< 374,340
Atral MANGNHSOIHE K& 2,520 14,150 A 11,630
= 1,440
< 1,080
308 XtXIEHH SOl A 2,520 14,150 211,630
= 1,440
< 1,080
01 HXNHHNBHEELS 2,520 14,150 A 11,630
Obterar MANFEOIHME XA 2,520
2 1,440
< 1,080
LA SHADIIBEE Y 1,955,309 1,176,973 778,336
= 1,303,539
< 651,770
403 X SHHSA=0l& 1,955,309 1,176,973 778,336
= 1,303,539
< 651,770
01 X SHMA=2E X 1,955,309 1,176,973 778,336
OYiS At S 1,955,309
= 1,303,539
< 651,770
MEEASHAET =4 179,195 880,000 A700,805
= 143,356
< 35,839
403 MHXISHE X201 E 179,195 880,000 A700,805
= 143,356
< 35,839
01 X SHHX2E = 179,195 880,000 A700,805
Ol RS MAET =4 179,195
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 143,356
& 35,839
MNEsEEH 679,783 401,100 278,683
= 453,189
= 226,594
403 XX SHHS K20 & 679,783 401,100 278,683
2 453,189
o 226,594
01 XIS A2E X 679,783 401,100 278,683
oszlEs Y 679,783
2 453,189
=} 226,594
A A2 THHE 22l 1,589,455 0 1,589,455
=2 1,390,773
& 198,682
308 XHXIGH SO0l & 1,589,455 0 1,589,455
= 1,390,773
& 198,682
01 IXHHNIMNEXS 1,589,455 0 1,589,455
OREAH AprS THHE 22! 1,589,455
= 1,390,773
= 198,682
MBS SHHAALH 120,000 33,600 86,400
= 100,000
o= 20,000
403 XX S M S K201 A 120,000 33,600 86,400
= 100,000
o= 20,000
01 AIXISHHMA2E X 120,000 33,600 86,400
OFzdgel =z HAAXNSH 120,000
=2 100,000
= 20,000
HASHE XM 1,050,000 0 1,050,000
2 700,000
& 350,000
403 XX SHHS K20 ™ 1,050,000 0 1,050,000
2 700,000
& 350,000
01 XIS A2 X 1,050,000 0 1,050,000
OlHAdE =4 1,050,000
= 700,000
o= 350,000
ANSEHAIETEE B3RS Q29 65,766 65,766 0
= 55,588
= 10,178
101 @1 214| 14,432 14,032 400
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NEER- b
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
203 YR =&l 1,200 1,200 0
03 Al F=XH R =AH| 1,200 1,200 0
OME=RIAIH =2 1,200
tH: SHAH LAY 1,200,000 0 1,200,000
= 1,000,000
< 200,000
403 MtXISHHE X201 & 1,200,000 0 1,200,000
= 1,000,000
< 200,000
01 XM A=2EE 1,200,000 0 1,200,000
Ol 2ciAH =4 1,200,000
= 1,000,000
< 200,000
gUME= =4 1,400 0 1,400
= 1,120
= 280
403 RXSHSK =0l & 1,400 0 1,400
= 1,120
= 280
01 X EHHMA=LE L 1,400 0 1,400
OgtHHd==s =4 1,400
= 1,120
< 280
MHEZES 8,455,421 9,841,513 A 1,386,092
= 5,008,162
= 3,447,259
ISEEIE 4,609,829 4,241,844 367,985
= 3,179,192
< 1,430,637
308 X EHSOIA 4,117,844 3,813,775 304,069
= 2,839,892
< 1,277,952
01 HXNHHNBMNEELS 4,117,844 3,813,775 304,069
O el &l st 2| 153,816
= 106,080
< 47,736
OstHERADI 27,840
= 19,200
< 8,640
OLt= &3t Z Al 34,140
= 23,544
< 10,596
ONMETZUHENUHZ RS 154,048
= 106,240
< 47,808
OL= 83t = SH| 26,587
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SN EB S (3H) - NEAY - BES ofl &k o San HDE2
= 13,600
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ORolotnet Al 63,800
= 44,000
o= 19,800
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= 48,000
[ 21,600
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= 5,040
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O EIAE 29 2,240
= 896
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= 2,944
o= 4,416
01 2L Y| 7,360 7,360 0
ONM2 8 g &S| 4,000
= 1,600
& 2,400
ONZES XA 25 04| 3,360
= 1,344
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AN AHE =X
M AN MENIEH
thel: JMEEAES (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OHE2t E5&s 9,000
= 9,000
SO FRAS NJAASE 653,751 787,751 A 134,000
= 653,751
403 MtXISHHE X201 E 653,751 787,751 A 134,000
= 653,751
01 XM A2 X 653,751 787,751 A 134,000
HEU2 FeAS XA 653,751
= 653,751
2S5 +FHAY 108,000 108,000 0
308 XX EHHSOIA 108,000 0 108,000
01 X HHILEES 108,000 0 108,000
OBs+=ZHlAtg 108,000
MSEEHS LA 1,351,565 1,297,317 54,248
= 1,068,278
< 283,287
308 X EHHSOIA 1,339,865 1,257,749 82,116
= 1,059,278
< 280,587
01 HIXNHHBMNEELS 1,339,865 1,257,749 82,116
Otz golls oz 29 564,040
2 433,877
< 130,163
ogerHEss Y 444,314
= 348,974
= 95,340
OaUSHLEEE &M 331,511
= 276,427
< 55,084
403 MtXISHHE X201 & 11,700 39,568 N 27,868
= 9,000
< 2,700
01 AXSHHMA=2EE 11,700 39,568 A 27,868
OdttdldollE &2 MEH & 11,700
= 9,000
< 2,700
s=2n82 26,000 35,100 ~9,100
= 20,000
< 6,000
308 MtXIEHSOIH 26,000 35,100 29,100
= 20,000
< 6,000
01 HXNHHNBHEELS 26,000 35,100 A 9,100
Ox==23g 26,000
= 20,000
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SN EB S (3H) - NEAY - BES ofl &k o San HDE2
| == 6,000
AUSMAESY O EFALR 15,659 13,063 2,596
308 AXISHXSOoIH 15,659 13,063 2,596
ANXSHHMENEXZ 15,659 13,063 2,596
O2URMESY HEEAA 15,659
AFS| A HI OF o1& & Hl| 25,364 29,517 N4, 153
= 25,364
308 AXISHMSO0IA 25,364 29,517 N4, 153
= 25,364
01 HXHHNBIMNEXTS 25,364 29,517 N4, 153
OMSMHHIAZ0F 218 AH| 25,364
= 25,364
BHE 2 LAE MANEHIEY 120,000 120,000 0
403 XX S M S X201 A 120,000 120,000 0
01 AIXISHM A28 X 120,000 120,000 0
OWE2t AMS MANECK |4 120,000
A2 X ot E A X 8,400 0 8,400
403 XtXISHH S K201 8,400 0 8,400
01 MHXHXMAESEE = 8,400 0 8,400
OLa22X oHLHEN & X 8,400
EPNE P 27,696,478 31,605,880 AN 3,909,402
= 18,720,311
Xl 3,246,000
Dl 780,000
= 4,950,167
TE A 6,550,438 6,386,501 163,937
= 4,905,069
= 1,645,369
403 XX S S K201 A 6,550,438 6,386,501 163,937
= 4,905,069
= 1,645,369
01 AXHNMAHEE = 6,550,438 6,386,501 163,937
Oxg Mg 6,550,438
= 4,905,069
o= 1,645,369
rEE @25372¢ 3,422,362 3,524,622 A 102,260
= 3,422,362
401 Al HI L £ 0HHI 3,422,362 3,524,622 A 102,260
= 3,422,362
01 A& HI 3,422,362 3,524,622 A 102,260
oxdgg Es7¢ 3,422,362
= 3,422,362
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ESMAD|BIXS 140,252 34,952 105,300
= 108,325
& 31,927
403 XX SHHS K201 & 140,252 34,952 105,300
= 108,325
= 31,927
01 XIS AS2E X 140,252 34,952 105,300
EMADIEE XM 140,252
= 108,325
=} 31,927
s 13,500 13,500 0
206 M = Hl 10,000 10,000 0
01 X2 H| 10,000 10,000 0
22 ¥ XYz3 Y 10,000
301 et A= 3,500 0 3,500
09 BALAIHI B A2 3,500 0 3,500
ONSYHA 2Y(TAE 2Y) 3,500
M =J13RD| 10,742,414 12,597,101 N 1,854,687
= 8,263,406
= 2,479,008
403 XIXISHHIS X =201 & 10,742,414 12,597,101 A 1,854,687
=2 8,263,406
= 2,479,008
01 XS AS2E X 10,742,414 12,597,101 N 1,854,687
OFM£II R 10,742,414
=2 8,263,406
=} 2,479,008
ZOIPI| KR E AL 195,486 192,123 3,363
= 149,616
& 45,870
101 @121 | 16,312 14,681 1,631
= 8,602
& 7,710
04 JI2ZtHIZ22NEE S 16,312 14,681 1,631
O=IJtRI| R XZALE oI AHHI (2 H) 15,420
= 7,710
== 7,710
O=Jt3R)| NAZAIE WSHI(2EH) 892
= 892
201 LBt Y| 400 312 88
= 200
= 200
01 AP 22| d| 400 312 88
OotEs o o= g 400




SN A =T
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chelr MEXIREEY (el @2)
(o
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2

= 200
= 200

308 XHXIEH SOl A 178,774 175,270 3,504
= 140,814
= 37,960

01 AIKSHMEMNEX= 178,774 175,270 3,504
O=JtRI| NEEAS X & 178,774
= 140,814
=} 37,960

AEHIOIQIFAMSES =& 1,266,238 1,539,309 N273,071
= 988,229
= 278,009

403 XX SHHS K20 & 1,266,238 1,539,309 N273,071
= 988,229
= 278,009

01 XHHE2E =X 1,266,238 1,539,309 AN273,071
OAEHIOI Q0 A AtS =& 1,266,238
= 988,229
= 278,009

AAI|HEH B3 71,500 103,350 A 31,850
= 55,000
o= 16,500

403 XX SHHMS K201 A 71,500 103,350 A 31,850
= 55,000
o= 16,500

1 AXSHHAA2E X 71,500 103,350 A 31,850
OLAINHEH 23 71,500
= 55,000
& 16,500

g =51 X4 715,000 1,300,000 A 585,000
Xl 550,000
&< 165,000

403 XX SHHS K20 & 715,000 1,300,000 A 585,000
Xl 550,000
& 165,000

01 XIS AZ2E X 715,000 1,300,000 A 585,000
Owor 28 =4 715,000
Xl 550,000
o= 165,000

TANE FH 2,696,000 3,215,000 A 519,000
N 2,696,000

403 XX SRS K20l & 2,696,000 3,215,000 A 519,000
N 2,696,000

01 MXSHHXE2E =X 2,696,000 3,215,000 A 519,000
OEAM= 24 2,696,000
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SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
| Al 2,696,000
sMT2 Uss &4 780,000 750,000 30,000
| 780,000
403 XXM S X201 780,000 750,000 30,000
J| 780,000
01 AXSHMA2E = 780,000 750,000 30,000
O=M13 Uss =24 780,000
| 780,000
=AEf 22l o 55,596 46,330 9,266
= 42,768
< 12,828
308 XXM S0 A 55,596 46,330 9,266
= 42,768
< 12,828
01 IXNHHBNEES 55,596 46,330 9,266
Os=dEfaele 29 55,596
= 42,768
< 12,828
S AI=sX2el 83,394 83,394 0
= 64,152
= 19,242
308 XX EHH SOl A 83,394 83,394 0
= 64,152
< 19,242
01 AXSGHBLELS 83,394 83,394 0
OZA=Xz2eld 83,394
= 64,152
= 19,242
sgw=3ACIUOoIH 27,798 27,798 0
= 21,384
< 6,414
308 XXM SO0 A 27,798 27,798 0
= 21,384
< 6,414
01 AXSGHBLEES 27,798 27,798 0
Ostu= 2CIUI0lE 27,798
= 21,384
< 6,414
A A BOF 24 3,000 3,000 0
201 L2l 3,000 3,000 0
01 At 22l 3,000 3,000 0
O&EAY EIRE =Y 3,000
LictZ 233 84 A& 23,500 23,500 0
201 et 6,000 6,000 0
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- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 AP 22| H| 350 0 350
OLIctZ2Z2AMEEH HAAIRE = 350
03 A2 EH| 5,650 6,000 A 350
OULIctZ2ZSIAIZ2=H(RE) 5,650
303 ZTA& 2 1,000 1,000 0
01 LAZ 1,000 1,000 0
OUHZR2Z2SAI SN Ala2 1,000
403 XX SHS K20 & 16,500 16,500 0
01 XIS A=2E X 16,500 16,500 0
ouctZR=2s 4 & XHdX 22| 16,500
EERECUIXY 910,000 0 910,000
= 700,000
=} 210,000
403 XX S M S K201 A 910,000 0 910,000
= 700,000
= 210,000
01 AIXISHHMA2E X 910,000 0 910,000
OBRSKREUIXHY 910,000
= 700,000
= 210,000
EHEtd AR 2e 11,704,255 10,908,894 795,361
= 2,356,876
Xl 7,692,068
& 1,655,311
Hagaeyl B3 837,280 488,000 349,280
= 599,200
= 238,080
403 XX SHS K201 & 837,280 488,000 349,280
= 599,200
= 238,080
01 XIS A2 X 837,280 488,000 349,280
FEHZ ST BIEAdY 816,480
= 583,200
= 233,280
OMI=XNES S E3 2L 20,800
= 16,000
= 4,800
SMHOIE HHA2ANE 89 15,990 15,990 0
= 12,300
= 3,690
308 AHXIEHSOIA 15,990 15,990 0
= 12,300
o=t 3,690
01 AIXSHMENMNEX= 15,990 15,990 0
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OFZMHolE HUHZAIH & 15,990
= 12,300
o= 3,690

SMASESIAI A S U3 1,008,000 224,000 784,000
= 900,000
& 108,000

403 XX S S X201 A 1,008,000 224,000 784,000
= 900,000
& 108,000

01 MXHHEBE =X 1,008,000 224,000 784,000
OSMAHS AlE SUS 1,008,000
= 900,000
= 108,000

SMHHS S22 AMgEEd 29 10,000 8,000 2,000
= 10,000

308 XX SHHSOIH 10,000 8,000 2,000
= 10,000

01 AXHNBIMNEXZ 10,000 8,000 2,000
OSMME S22 ANMEHIEAHA 29 10,000
= 10,000

ATAIE "ot < 12,429 10,286 2,143
Xl 8,700
= 3,729

301 LBt A= 12,429 10,286 2,143
N 8,700
= 3,729

11 IIEtE &2 12,429 10,286 2,143
O ANY Et=EE} 12,429
Xl 8,700
o= 3,729

U AM 7,396,808 8,214,688 A 817,880
Xl 6,472,208
& 924,600

403 HXISHA S Xt =0 7,396,808 8,214,688 A 817,880
Xl 6,472,208
& 924,600

01 AIXISHMA2E X 7,396,808 8,214,688 A 817,880
OYZAIAE 7,396,808
Xl 6,472,208
= 924,600

ol T 2|0l 287,040 243,165 43,875
Xl 251,160
= 35,880

308 AHXI S M SO0l & 287,040 243,165 43,875
Xl 251,160




AN AHE =X
M AN MENIEH
Cl: MEHEE AtXlI2e] (SH9: &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 35,880
01 IXNHHBNEES 287,040 243,165 43,875
Ogaeld oAbl 287,040
Xl 251,160
< 35,880
SHEsHE & 1,032,000 1,075,000 243,000
Xl 960,000
= 72,000
403 XIS E X201 E 1,032,000 1,075,000 243,000
Xl 960,000
< 72,000
01 X SHHA2E= 1,032,000 1,075,000 A 43,000
O2M=2stMEadE =4 1,032,000
Xl 960,000
= 72,000
AEALERE 0l 2 304,512 253,765 50,747
= 234,240
< 70,272
308 AHXIEHHSOIA 304,512 253,765 50,747
= 234,240
< 70,272
01 HIXNHHNBMNELS 304,512 253,765 50,747
OLHALER S ol &2 & 304,512
= 234,240
< 70,272
MEME SR 446,046 316,000 130,046
= 395,231
< 50,815
403 MtXISHH S0l & 446,046 316,000 130,046
= 395,231
< 50,815
01 XM A=2EE 446,046 316,000 130,046
OMBIME| =AY 446,046
= 395,231
< 50,815
AHARER H XS EXE &3 60,000 60,000 0
403 A X EHHS =0l A 60,000 60,000 0
01 X EHHM A= LE XL 60,000 60,000 0
OALALEH H 2+ XIS HEXIE & X 60,000
APEEALS EHE A E Ot 294,150 0 294,150
= 205,905
< 88,245
401 Al HIZ 201 Y| 294,150 0 294,150
= 205,905
< 88,245




AN AHE =X
M AR MANARH
Selr dEjEd dX2e (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 A& HI 292,050 0 292,050
OArZ ALY EtE A Ot 292,050
= 204,435
< 87,615
03 Al =2 THHI 2,100 0 2,100
OAEAIY BtEd EOt 2,100
= 1,470
< 630
SA2sEd 16,840,656 16,926,086 A 85,430
= 5,756,664
X 6,190,000
< 4,893,992
HOlQaE S e X d 3,750,000 3,750,000 0
= 2,500,000
< 1,250,000
403 MHXSHHSA=0l& 3,750,000 3,750,000 0
= 2,500,000
< 1,250,000
01 HXSHMA=LE L 3,750,000 3,750,000 0
OttoI24tgy sdelx4d 3,750,000
= 2,500,000
< 1,250,000
23 F-Forest =4 1,820,000 650,000 1,170,000
= 1,400,000
< 420,000
403 MtXISHH S0l & 1,820,000 650,000 1,170,000
= 1,400,000
< 420,000
01 XS M A=2EE 1,820,000 650,000 1,170,000
O=2& F-fForest &4 1,820,000
= 1,400,000
< 420,000
AT =4 2,210,000 650,000 1,560,000
= 1,700,000
= 510,000
403 A X EHS =0l A 2,210,000 650,000 1,560,000
= 1,700,000
= 510,000
01 X EHHMA=LE L 2,210,000 650,000 1,560,000
O#LIAEI =4 2,210,000
= 1,700,000
< 510,000
e EYY X4 5,775,000 5,910,000 135,000
X 3,850,000
= 1,925,000




2N
X ZH -
L= B
el

(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

403 XX SHHS K20 & 5,775,000 5,910,000 A 135,000
Xl 3,850,000
& 1,925,000

01 AIXISHHMA2E X 5,775,000 5,910,000 A 135,000
OXNds2se =4 1,425,000
N 950,000
=} 475,000
OS] X8 HetArY 4,350,000
Xl 2,900,000
& 1,450,000

Agos =4 1,170,000 2,340,000 A 1,170,000
Xl 900,000
= 270,000

403 XX SHHS K201 & 1,170,000 2,340,000 A 1,170,000
Xl 900,000
= 270,000

01 XIS A2E X 1,170,000 2,340,000 A 1,170,000
OXgod= = 1,170,000
N 900,000
= 270,000

=Z=ol&II2d 55,596 55,596 0
= 42,768
& 12,828

308 XHXIEHH S0l & 55,596 55,596 0
= 42,768
& 12,828

01 AIKISHHENEXZ 55,596 55,596 0
O=dl&dl 29 & 55,596
= 42,768
o= 12,828

=2 ME X T A 64,862 74,128 A9, 266
= 49,896
= 14,966

308 MXISHMSOIA 64,862 74,128 A9, 266
= 49,896
= 14,966

01 HXHHIMNEEXTZ 64,862 74,128 N9, 266
O=2LME X = A 64,862
= 49,896
& 14,966

MNE=MEIOIE 2H MU A 83,198 64,862 18,336
= 64,000
= 19,198

308 XX EHSOIA 83,198 64,862 18,336
= 64,000
o= 19,198

®
|




SN A =T
XN ZXH: A “E,
L= B o

Sl FYSHBH (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 83,198 64,862 18,336
OLZEHMEIDIS 2H0LIN 83,198
= 64,000
< 19,198
=2 g2 994,500 585,000 409,500
Xl 765,000
< 229,500
403 MHXISHE X201 & 994,500 585,000 409,500
Xl 765,000
< 229,500
01 X SHHN2E = 994,500 585,000 409,500
OMEASLZ EH| 994,500
X 765,000
= 229,500
Sl ESd 2l 747,500 0 747,500
Xl 575,000
< 172,500
403 A X EHHSH20IA 747,500 0 747,500
Xl 575,000
< 172,500
01 X ESHHMA=LE L 747,500 0 747,500
OfelatselZ s 747,500
Xl 575,000
= 172,500
=l Matus 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
02 IZtE M AHE X 20,000 20,000 0
O=di&l datus X 20,000
=MENS 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
02 LB LA EX 20,000 20,000 0
O=Hguns XN 20,000
aes 8982 =48 130,000 0 130,000
Xl 100,000
< 30,000
403 A X EH S =0l A 130,000 0 130,000
Xl 100,000
< 30,000
01 X HHMA=ZLE L 130,000 0 130,000
Oa&sE B5=2 =4 130,000
Xl 100,000
< 30,000
2L AL (L& =Xt 71,617 58,317 13,300




NEE
HHS YA (MY =)
o=

A B O9(SA) - NRANY - BES il 2

Jl= &l 71,617 58,317 13,300

Jl=dl 71,617 58,317 13,300

201 Let24d] 18,627 18,627 0

01 At 22/l 18,627 18,627 0
OJl=+=8Htl 7,602
OJle sl 11,025

202 44l 39,690 39,690 0

01 S LHOIYI 39,690 39,690 0
O=U A bl 39,690

405 XHobF S HI 13,300 0 13,300

01 At ESFH S 13,300 0 13,300
OLE=S 1,800
O=AI 6,000
OgdH A 1,500
OPNEE—3= 3= D] 4,000
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